Money
Here you will find the White Rose Maths pages linked to money (children- you will be used to just having the right-hand side of the page chopped up for you to complete in your books!) please feel free to complete sections as you wish. On the reasoning and problem-solving pages you will see the questions with the answers alongside, the children are used to having these problems as well. I have left the answers on there so they can either self-check or are there for guidance. 

Here are a couple of useful websites which may help to support this strand of learning:

https://www.topmarks.co.uk/Interactive.aspx?cat=25
There are lots of games on here that the children may like to experiment with and play to become familiar with money. 

https://www.bbc.co.uk/bitesize/topics/zp8dmp3
https://www.bbc.co.uk/bitesize/topics/z8yv4wx/resources/3
Clips to watch to help explain aspects of money. The top link is to the KS1 page which may be a good place to start as a reminder for some children. 
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Reasoning and Problem Solving

Dora spends £7 and 76p on a birthday
cake

She pays with a £10 note.
How much change does she get?

The shopkeeper gives her six coins for
her change.
What coins could they be?

She receives £2
and 24p change.

There are various
answers for which
coins it could be,
eg £1,£1,10p,
10p, 2p, 2p.

Amir has £4

He buys a pencil for £1and 20p and a
book for £1and 45p.

Which bar model represents the

question?

Explain how you know.

£4

oA

£1and 20p

£1and 45p

£4

£1and 20p

£1and 45p

Use the correct bar model to help you
calculate how much change Amir

receives.

The first bar
model is correct
as the whole is £4
and we are
calculating a part
as Amir has spent
money.

Amir receives £1
and 35p change.
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Ordering Money

Notes and Guidance Varied Fluency

Children use their knowledge of £1= 100 p to compare . Two classes save their pennies for a year.

amounts. Children begin by ordering amounts represented in

the same format e.g. 4,562 p and 4,652 p, or £45.62 and Class A saves 3,589 pennies.

£46.52 and relate this to their place value knowledge. Class B saves 3,859 pennies.

Once children understand this, they look at totals that include

mixed pounds and pence and also totals represented in Which class saves the most money?

decimal notation. Using real notes and coins could support

some children. I Write the amounts as pence, then compare using < , > or =

Write the amounts as pounds, then compare using <, > or =

Mathematical Talk

What does the digit _ represent? 62p O £6.02 £5,010 O 5010p

What place velue column is the digit in? How many
pounds/pence is it equivalent to? W Order the amounts in ascending order.

How can this help us decide which amount is larger/smaller? W0p 032 132p  £1320

Can we think of an amount which could go in between these
amounts? Order the amounts in descending order.

What does ascending/descending mear? 257p  £250  2057p  £2507
What's the same? What's different?
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Ordering Money

Reasoning and Problem Solving

Teddy, Dora and Jack are buying toys

Teddy
b | have 534p

Dora

Dora but less than Teddy. Jack

How much money could Jack have?
Is there only one answer?

‘What would you rather have, five 50p
coins or twelve 20p coins?
Explain your answer fully.

Jack could have
anything from
£5.35to £5.42
Children may
record this as
535pto542p

| would rather
have five 50 p
coins because
50 X 5 = 250p
but

20 x 12 = 240p

Amir has these digits cards.

g

He uses them to fill the frame below:

£(J).00

He makes a total that is more than three
pounds but less than six pounds.

How many amounts can he make?

Order your amounts in ascending order.

£3.24,£326
£3.42,£3.46
£3.62,£3.64
£4.23,£426
£4.32,£4.36
£462,£463
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Give Change

Notes and Guidance Varied Fluency

Children use a number line and a part-whole model to subtract 8 Mo buys a chocolate bar for 37p. He pays with a 50p coin. How

to find change. much change will he receive?

Teachers use coins to practically model giving change. 3 10p

Encourage role-play to give children a context of giving and

recening change P e —
37p 40p 50p

Mo will receive ___p change.

Use a number line to solve the problems.
* Ron has £1.He buys a lollipop for 55p. How much change will

Mathematical Talk he receive?
* Whitney has £5. She spends £3 and 60p. How much change
What do we mean by ‘change’ in the context of money? will she receive?
Which method do you find most effective? & Tommy buys a comic for £3 and 25p. @
He pays with a £5 note.
How does the part-whole model help to solve the problem? How much change will he receive?
Use the part-whole model to help you.

Use a part-whole model to solve the problem.
+ Eva buys a train for £6 and 55p. She pays with a £10 note.
How much change will she receive?




